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a) 2 3 0 6
  × 4
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  × 0
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LP 91/7

32 litres

27 litres

1630 cl

8900 ml 12     litres
3
4

36.2 litres

10.40 litres

LP 91/4

 Time
(seconds)

Distance
(m)
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1 2 3 4 10 100

2.40 1.6

5 0
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Quantity of
(in kg)

Price (in p) 208

1 2 3 4 5 6

Price (in £) 2.08

7 8 9 10 2 1
2

LP 91/8
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le.

1

2

3

4

5

6

Horizontal Clues

1 5 is  . . .  than 8.

2 Every  . . .  is a rectangle.

3 17     81  is a . . .×

1 4 7 is  . . .  of 14.

5 15     5  =  . . .

6 100     5  =  . . .

÷

÷
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Month

Visitors

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec

LP 93/6b

a) Nine thousand, four hundred and seventy-four

10 thousands + 3 hundreds + 47

TTh Th H T U

d) 1     10 000 + 4     1000 + 3     10 + 9     1  

14 thousands + 670

b)

c)

e)

×

6     1000 + 8     10 + 5     1× × ×

× × ×



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 94/2

21

16

277

1

a)
27

36

6

2

b)

8



©  CIMT, Plymouth University

MEP: Book 4
m e p

LP 94/4

Number Nearest 10 Nearest 100 Nearest 1000

3484   ≈ 3480 3500 3000

6584   ≈
9046   ≈
9951   ≈

10 078   ≈
15 305   ≈
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by 3, you get its  . . .

remainder is . . .

. .

4, and 4 is the  . . .

1

2

3

4

5

LP 95/2

Horizontal Clues

1 If you multiply a number by 3, you get its  . . .

2 If you divided 18 by 5, the remainder is . . .

3 200 divided by 40 equals . . .

4 312 divided by 7 equals 44, and 4 is the  . . . 5 24 is a  . . .  of 3.
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Number + 1

5999

6899

4099

7009

+ 10 + 100 + 1000
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Tens

Hundreds

Thousands

3572

less than greater than less than greater than

10 324

LP 96/5

a)

785 790 795 800 805 810 815

650 700 750 800 850 900 950

b)

LP 96/6
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Numbers Smallest

2-digits

3-digits

4-digits

Greatest How many?

5-digits
6-digits
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Factor of 30

Factor of 24 Factor of 40

1      number     40  ≤   ≤
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a) 1 litre  =    cl 4 litres  =    cl 7 litres  =    cl

b) 1 m  =    mm 4 m  =     mm 7 m  =    mm

c) 1 kg  =    g 4 kg  =    g 7 kg  =    g

d) 100 cl  =    litre 300 cl  =    litres 800 cl  =    litres

e) 1000 mm  =    m 3000 mm  =    m 300 mm  =    m

f) 1000 g  =    kg 8000 g  =    kg 800 g  =    kg

LP 99/6
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a)
1
5
 m  =    cm

3
5
 m  =    cm

6
5

 m  =     cm

b) 0.1 m  =    mm 0.6 m  =    mm .5 m  =    mm

c)  
1
4

 kg   =     g
2
4

 kg  =    g
3
4

 kg  =    g

d) 0.1 kg  =    g 0.5 kg  =    g 1.4 kg  =    g
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a) b) c)
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a)   °C5   °C9   °C3   °C0  °C8   °C2   °C0   ° C7

C  ° C  ° C  ° C  °

b)   °C– 1   °C– 10   °C0   °C– 2  °C– 4   °C– 5   °C– 6   °C0

C  ° C  ° C  ° C  °

c)   °C– 2   °C2   °C4   °C11  °C3   °C– 3   °C– 4

C  ° C  ° C  ° C  °

  °C– 11
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a)

– 6 0 5
b)

– 80 0 50
c)

– 1 0
d)

0
– 0.2 0.8

3
5
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– 500

0

500

1000

1500

– 1000

A

B

D

G
C

E

F

Sea 
level

LP 102/6



©  CIMT, Plymouth University

MEP: Book 4
m e p

8848 m4500 m

m

1015 m0 m

m

a) 38 m251 m

m

– 2500 m– 1100 m

m

– 402 m0 m

m

b) – 21 m– 305 m

m

40 m– 637 m

m

19 m– 18 m

m

c) – 15 m42 m

m

LP 102/7
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0 30minutes 0 30minutes 0 30minutes

LP 103/2

Temperature outside   °C( )

Temperature inside   °C( )

0 –3 –8 2

1 12 – 1 6

5 – 4

0

LP 103/5a
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y
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Temperature outside

14

0 4 10

  °C( )

Temperature inside   °C( )

6 82– 2– 4– 6– 8– 10
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– 10 0 10

– 10 0 10

– 10 0 10

LP 103/6 and LP 104/6 and LP 104/8
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– 30 – 20 – 10 0 10 20 30

LP 104/7ii

LP 104/7i

Make two copies on card, cut out and stick together.
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Arrived 

Departed

Change

25 16 19 15 21 0 18 0 7 22 25 

18 23 19 0 27 2 23 11 5 10

+ 7 

LP 104/9
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Money (£)
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0–5 –1 1 2 3 4 5 6 7 8 9–2– 3– 4–6–7–8

y

x

– 4 – 3 – 2 – 1 0 2 3 4 5 6 7 8 9 10 11 12 131

y  = x  = 4  =

LP 105/7

LP 105/6a

a) £0: b) £6:–11 1 1 –11 1 1

c) – £4: d) –£5:1–1 –1 –1 –1 –1 –1 –1 –1

e) £3: f) – £6:1 1–1 1 1 1 – 1 1 – 1
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1
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1

– 1

– 1

– 1

1

– 1

– 1

– 1

– 1

– 1

– 1

– 1

1

1 – 1 – 1

1– 1 1

1 – 1 1

1 1 – 1

– 1 – 1 – 1

– 1 – 11

– 1

1 – 1

– 1 – 1

11– 1

– 1 – 1

1 1 1

1

1

– 10 0 10
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0–5 –1 1 2 3 4 5 6 7–2– 3– 4–6–7–8

a – 2 – 1 0 2 3 4 5 6 7 8 9 10 11 12 131

b
14 15

–9–10

7 + 8  =  15 6 + 8  = 5 + 8  = 4 + 8  = 3 + 8  =   2 + 8  =

1 + 8  = 0 + 8  =         – 1 + 8  = – 2 + 8  = – 3 + 8  =   – 4 + 8  =

– 5 + 8  = – 6 + 8  = – 7 + 8  = – 8 + 8  = – 9 + 8  =   – 10 + 8  =

Rule: b  = a  = 8  =
LP 106/6

– 10 0 10
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71 kg28 kg

kg

a) – 56 m120 m

m

– 29 m– 710 m

m

c) – £310– £420

£

– 310 m0 m

m

e) + 14  C– 31  C

b)

d)

f)° °

C°
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Income 

Outgoings

Balance

520 450 730 240 430 0

Total

300 

200 600 450 680 320 0 230
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– 10 0 10– 5 5

+ 3 + 4
a)

+ 3 + 4  =  

 3  4    

– 10 0 10– 5 5

+ 6
c)

– 8

– 10 0 10– 5 5

– 3– 4
b)

– 3 – 4  =  
– 8
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b) – £6: 1 – 1 – 1

c) £4: – 1– 1 1

d) – £3: 1 1

a) £0: 1 1 1 – 1
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3 + 2  = 3 + (– 2)  = 3 + (– 6)  =  – 2 + 3  =

3 + 1  = 3 + (– 3)  = 3 + (– 7)  =  – 5 + 3  =

3 + 0  = 3 + (– 4)  = 3 + (– 8)  =     0 + 3  =

3 + (– 1)  = 3 + (– 5)  = 3 + (– 9)  =     2 + 3  =

0–5 –1 1 2 3 4 5 6 7 8–2– 3– 4–6–7–8

– 5 – 4 – 3 – 2 – 1 1 2 3 4 5 6 7 8 9 10 110

LP 108/5
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– 3 + (– 7)  = – 3 + (– 3)  = – 3 + 1  = – 3 + 5  =

– 3 + (– 6)  = – 3 + (– 2)  = – 3 + 2  = – 3 + 6  =

– 3 + (– 5)  = – 3 + (– 1)  = – 3 + 3  = – 3 + 7  =

– 3 + (– 4)  = – 3 + 0  = – 3 + 4  =  – 3 + 8  =

0–5 –1 1 2 3 4 5 6 7 8–2– 3– 4–6–7

– 10 – 9 – 8 – 7 – 5 – 4 – 3 – 2 – 1 0 1 2 3 4 5– 6
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a) 8   C  is greater than  3   C  by  5   C. 8 – 3  =  5, 5 + 3  =  8

b) 3   C  is              than  8   C  by  5   C. 3 – 8  =        ,       + 8  =  3

c) 8   C  is greater than  0   C  by  8 – 0  =        ,       + 0  =  8

d) 3   C  is greater than  – 2   C  by  3 – (– 2)  =         ,       + (– 2)  =  3

– 2   C  is less than  3   C  by    – 2 – 3  =         ,       + 3  =  – 2e)

– 2   C  is               than  – 5   C  by  3   C. 
 

– 2 – (– 5)  =         ,       + (– 5)  =  – 2f)
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<   4.3   < <  12     < <  0.2  <1
3

<  7 +      < <         < <         <4
5

9
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9
4

<  61 +     < <       –      < <  100.1 <3
2

11
5

2
5

<  3.99   < <   –        < <  – 2.5  <4
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A B
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27 28
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32 33 34 35
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20 n 70≤ ≤
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LP 110/5

123,  124,  125,  132,  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

213,  214,  215,   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

312,  314,  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

412,  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

512,  .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3
4
5

2

3

4

1

5

2 3 4 5
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2
3
4

1

2

3

1

4

1

2
3
4

1

2
3
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3
4
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1

2

3

2

4

1

2
3
4

1

2
3
4

1

2
3
4

1

2
3
4

1

2

3

3

4

1

2
3
4

1

2
3
4

1

2
3
4

1

2
3
4

1

2

3

4

1

2
3
4

1

2
3
4

1

2
3
4

1

4

Solution LP 111/4
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a) b)

d)
c)

✁
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LP 111/9

c) d)

a) b)


